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BERIE LEFRE(A) HIEERERE(B) 1EIR(A)-(B)
NMERIRBEUN 806, 200, 024 780, 308, 972 25, 891, 052
I HRBLEINEG 1,509, 480 1,176, 832 332, 648
PR Y —CAFBEUNS 12, 308, 780 15,078, 970 -2,770, 190
IR | ZOARDIEHEUR R 0 0 0
| 2R 0 0 0
BRERESMHEING 0 200, 000 -200, 000
" ZOfOURZE 0 0 0
| Y-ERESREET (1) 820,018, 284 796, 764, 774 23,253,510
[« A& 643,937, 430 608, 052, 851 35, 884,579
e 114, 828, 094 112,937,109 1,890, 985
g e 66, 385, 215 65, 203, 556 1,181,650
1 I IREEEA 2,240,177 2, 465, 359 -225, 182
b RESEER 0 0 0
D | g | FIAE SRR 0 0 0
B @ e 45, 385, 529 44, 608, 036 777, 493
EEEHBN &S RIE T R ENEAEA -13, 050, 105 -13, 050, 124 19
BN HERE 0 0 0
[ EN-CEEREIN 0 0 0
ZOfOER 0 0 0
Y-EESHEMET (2) 859, 726, 340 820, 216, 787 39, 509, 553
Y-EESEHELE (3) = (1) - (2) -39, 708, 056 -23,452,013 -16, 256, 043
BAEFI S EINZG 0 0 0
SR BERL SIS 3,566, 122 3, 436, 691 129, 431
s i 0 0 0
BmEES 5 0 0 0
IR | I EE RS STl 0 0 0
" | Ea M 0 0 0
| BRI i 0 0 0
[« fiiva=i Rt 0 0 0
A TOMOY -EEEITHRE 11,765, 101 8, 365, 794 3,399, 307
B [giexEmsinat (4) 15,331, 223 11,802,485 3,528,738
?: KHFIR 0 0 0
i Lo LliENEZ R i 0 0 0
i BifiEES5TAE 0 0 0
A RE =t TiEn s = i} 0 0 0
BB s 0 0 0
ERRAEE SIS 0 0 0
fiva=i:dadiicsl 0 0 0
ZOMOY—E R ESSER 0 98, 000 98,000
Y-EESNERET (5) 0 98, 000 -98, 000
Y-EEBIMEREL (6) = (4) — (5) 15, 331, 223 11, 704, 485 3,626, 738
EEERER (7) = (3) + (6) -24, 376, 833 -11, 747,528 -12, 629, 305
SRR mEMBRING 28,000 869, 000 -841, 000
MR EE RS M RN 0 0 0
Iy | REAEEEREA R TREETHSUNE 0 0 0
| EEERE 500, 000 0 500, 000
i TORBOEFRIINES 0 0 0
a1 FFRIURZEEET (8) 528, 000 869, 000 -341, 000
] EASHEAEE 0 0 0
b EREHE 0 0 0
f a B &R ANE 05318 28 7 21
" & EE#EESHRIEII SIS (RA%) 0 0 0
EEHE &SR S8R 0 869, 000 -869, 000
TOROFERIER 0 0 0
FERIEAET (9) 28 869, 007 -868, 979
HRIEHELE (10) = (8) — (9) 521,972 -7 521,979
LESEEMERAELE (11) = (7) + (10) 23,848, 861 -11, 747,535 -12,101, 326
‘:: BUIREBNIENAERE (1 2) 975, 506, 420 087, 253, 955 -11, 747,535
w | HEARIGMEEMERAESE (13) = (11) + (12) 951, 657, 559 975, 506, 420 -23, 848, 861
 [ExammE (14) 0 0 0
: 2O EEEREE (1 5) 0 0 0
# | 20O SRR (16) 0 0 0
;’B EBRRBEENISRERE (17) = (13) + (14) + (15) - (16) 951, 657, 559 975, 506, 420 -23, 848, 861




